
26 January 2009 Monday Race Result Şanlıurfa Racecourse (4th Day)

22nd Race  Starts At:13:00 Handicap 16/DHÖW kg, 1400 Dirt

Prize 1.) 18.000 t 2.) 7.200 t 3.) 3.600 t 4.) 1.800 t
Breeders Premium 1.) 2.700 t 2.) 1.080 t 3.) 540 t 4.) 270 t

Silk Result Horse Name Age Sire Dam Weight Jockey Owner Trainer Time Win PSF St Margin Late Start RT

1 TUMBUL FATOŞ(2) 4yo chm BEYEFENDİ - SAKIZHANIM 59 MEH.DOĞAN DEH. TUMBUL MAH.DOĞAN 1.44.36 3,60 3 2 ½ Lenth 69

2 EYLÜL KIZI(7) 4yo chm EMİROĞLU - ÇIVGIN 54 U.YÜCEL MEH. ÇELİK M.YÜCEDAĞ 1.44.89 9,40 8 1 ½ Lenth 55

3 PİRDEMİRKIR(6) 4yo gr h SAĞANAK - ARİFE.2 57 F.YARDIMCI MEH. KARAKEÇİ MAH.DOĞAN 1.45.18 13,60 9 2 ½ Lenth 57

4 BAŞAKSOYLU(8) 4yo grm MAGRİP - BAŞAK.5 49,5 MEM.GÜNEŞ MEH. FELHAN M.YÜCEDAĞ 1.45.63 11,25 5 50

5 KAPTAN GÜR(13) 4yo ch h EMİROĞLU - ERİKA 54,5 AHMET TAŞ ABD. YAŞARER HAL.ŞİMŞEK 1.46.92 6,80 13 52

6 COŞKUNGÜL(10) 4yo grm BOZDAĞ - GÜLAYŞEM 53 A.ÇELİK HAL. COŞKUN S.KAN 1.47.57 7,40 4 49

7 DEVHAN(9) 4yo ch h DEVİRHAN - MELAHATHANIM 53,5 MEH.ÇELİK M. ERD. DÜZARAT MAHİR DEMİR 1.47.72 8,55 15 2 Lengths 50

8 SAÇANIM(4) 4yo chm BOZDAĞ - ESENGÜL.1 58,5 ERDAL YAVUZ ABD. ELĞAÇ A.SAÇAN 1.48.35 5,85 7 62

9 SUDENAZ(3) 4yo chm SERDARBEY - PERİŞHANIM 60,5 G.KILIÇ FET. GÖKKAN S.KONUK 1.49.37 3,35 14 66

10 ATEŞHATOĞLU(1) 4yo gr h EMİROĞLU - ALEV 59 İ.GÖÇER M. EMİ. KAYA A.SAÇAN 1.50.95 7,45 12 69

11 ŞAHLAN(5) 4yo gr h BATYSKAF (PL) - KIRŞEMSA.43 58 N.ALTIN SAV. ERGİN S.ÖZKAN 1.51.78 3,20 11 59

12 HARUNHAN(11) 4yo gr h MAGRİP - YERLİ 47,5 MÜS.ÇELİK NEB. DOĞAN MAH.DOĞAN 1.54.64 23,65 6 46

13 ESPOLAT(12) 4yo ch h SANCAKBEYİ - REZZAN 52,5 A.TOPRAK AHM. POLAT F.GEYİK 1.55.67 21,60 2 48

14 BİNBEKTO(15) 4yo ch h GADDAR - İZABEL* 50 B.VATANSEVER MEH. ÇELİK S.ÇELİK 1.56.57 9,40 1 37

15 SAMETCAN(14) 4yo b h EMAEL (PL) - ŞATAFAT 51 UFUK AKAY SÜL. ŞİMŞEK İ.UÇAR 2.13.40 17,10 10 45

Pick(2) :3,60 t, Quinella(2/7) :37,70 t, Exacta(2/7) :86,15 t, Trifecta(2/7/6) :245,20 t, Place(2) :1,60 t, Place(7) :2,70 t, Superfecta(2/7/6/8) :1.752,55 t, Quartet(2/7/6/8) :34,14 t, 1st Double(2,13/2) :4,65
t


